Pretest: “Oomph”
       Name: ______________________
Section: ___________


Three identical carts (Carts 1, 2, and 3) are moving to the right with the same initial speed v0.  Each collides with a second cart (Carts A, B, or C, respectively).  Carts A, B, and C have equal masses but different bumpers.

After the collision, Cart 1 is moving to the right with speed 1/3 v0, Cart 2 is at rest, and Cart 3 is moving to the left with speed 1/3 v0.
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Rank the final speeds of Carts A, B, and C from largest to smallest.  Explain your reasoning.
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